Mo BOERE MBS iE g 10 15 21 o5 0| EW i =
1 15.475 ~ 15.505 15.490 = = = f = 0
?2 | 15.505 -~ 15.53h 15.520 0
3 | 15.535 ~ 15.56h 15.550 0
4 | 15.565 ~ 15.595 15.580 0
5 | 15.595 ~ 15.62h 15.610 0
6 | 15.625 ~ 15.655 15.640 0
7 | 15.865 ~ 15.68% 15.670 0
8 | 15.685 ~ 15.715 15.700 | 1
9 | 15.715 ~ 15.74h 15.730 0
10| 15.7458 ~ 15.775 15.760 0
11| 15.775 ~  15.805 15.790 |HM 7
12 | 15.805 ~ 15.83% 15.820 0
13| 15.835 ~ 15.86% 15.850 |HANE 3
14| 15.8656 ~ 15.80% 15.850 |(HEAENE 4
15| 15.895 ~ 15.92% 15.910 |HAHEEEN | b
16 | 15.925 ~ 15.955 15.940 HEEEEEEEEN 10
17 | 15.955 ~ 15.98% 15.970 |HAHAEAEENR ; 7
18| 15.985 ~ 16.015 16.000 | HHAAEEEEEEENR 11
19 | 16.0158 ~ 16.045 16.030 llllllllllllllllllllllll ; 24
20| 16.045 ~ 16.075 16.060 llllllllllllllllllllllllllllll 40
21| 16.076 ~ 16.105 16.090 llllllllllllllll 16
22 | 16.106 ~ 16.135 16.120 0
23| 16.135 ~ 16.165 16.150 0
124
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e 194 F—a2-—MAX = 16.09 BERE S = 0.0v |CcP(@m{ARs) = 0.67

F—E2—MIN = 15.69 3-8 = 0.22 |CP k(Mm{AIFRIE) = -0.33 k= 1.583
[ 8 ] MA X —MI N = 0.40 Tty + 3-8 = 16.24 |[CP(LEEHRHB\BOHFI= 1.72

E O B = 16.07 g - 3-5 = 15.79 |CP(TIERHEOH) = -0.39
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